RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Enrollment - September)

RESOLUTION NO. 03-380

1	WHEREAS,	the Tohono	O'odham Council has reviewed the recommendations of the				
2		Enrollment C	ommittee in accordance with Section I of Article VIII of the				
3		Enrollment O	dinance, Ordinance No. 05-81, and has made a final determination				
4		that the appli	cation of the following applicant for membership in the Tohono				
5		O'odham Natio	on be approved:				
6		ARTICLE II - M	EMBERSHIP				
7		SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS					
8							
9		3780-B-02	ESCUETA, Eugene T.				
10		3891-B-03	CHAVEZ, Savannah Marie				
11 12		3894-B-03	BIRD, Dontrell Johnathan				
13		3161-CK-03	FRANK, Darren Augie				
14		3162-CK-03	ENGLISH, Benjamin L. Sr.				
15		3163-CK-03	ENGLISH, Benjamin L. Jr.				
16		3164-CK-03	JOAQUIN, Parris Soraya				
17							
18		1587-GV-93	YSLAVA, Ralph A.				
19		1588-GV-93	YSLAVA, Veronica L.				
20		2371-GV-03	ADAMS, Nathanyel W.				
21		2372-GV-03	LEWIS, Cecilio J.				
22		2373-GV-03	CHIAGO, Sydnie D.				
23		2374-GV-03	CHIAGO, Omar B., Jr.				
24		2375-GV-03	WEYRAUCH, Robert J., Jr.				
25		2376-GV-03	WEYRAUCH, John A.				
26 27		2002 II 02	CDEED Model and I				
28		2083-H-03	GREER, Matthew J.				
29		2088-H-03 2103-H-03	CHILDS, Trina M. SMITH, Zaedrie				
30		2103-H-03 2104-H-03	MANUEL, Karina M.				
31		2105-H-03	ANTONE, Delbert R.				
32		2106-H-03	ZEPEDA, Avian J.				
33			•				
34		2153-P-03	CARMELLO, Sierra J.				
35		2154-P-03	AGUILLA, Darius				
36							
37		2118-GB-03	LOPEZ, Christopher R.				
38		2137-GB-03	LORD, Campbell J.				
39		2138-GB-03	BRAVO, Pedro A.				
40		2140-GB-03	GASTELLUM, Rebekah N.				
41 42		3301 CV 03	FEDNANDO Mania Dam				
42		2281-SX-03 2308-SX-03	FERNANDO, Kevin Ray THOMAS, Samantha A.				
43 44		2309-SX-03	PRESTON, Devon Cia				
45		2310-SX-03	GONZALES, Ahryia Eveny				
46		-910-UA-UJ	O CATALLED SIME SER EFFERS				
47		1843-ST-03	ENRIQUEZ, Beth Paige				
48		1844-ST-03	LOPEZ, Daisy L.				
49							
50							

ı	RESOLUTION NO. 03-380						
	(Enrollment - September)						
	Page 2 of 3						
1	ARTICLE II - MEMBERSHIP						
2	SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS						
3	4096 C A2 DEINA Delvere						
4	4986-S-03 REINO, Delraya 4987-S-03 MANUEL, Amilio C.						
5 6	4988-S-03 CASTRO, Saybrua C.						
7	4990-S-03 MARES, George S., Jr.						
8	4991-S-03 BORREGO, Felipe R.						
ğ	4993-S-03 BLAINE, Mark C., Jr.						
10	4994-S-03 MOLINA, Ariana J.						
11	4995-S-03 JOSE, Travis A.						
12	,						
13	2361-SO-03 ROMERO, Helina J.						
14	2362-SO-03 ROMERO, Phylina A.						
15							
16							
17	NOW, THEREFORE, BE IT RESOLVED that it is hereby determined that the above named applicant						
18	is eligible for enrollment as a member of the Tohono O'odham Nation under						
19	Section 1(a) or (b) of Article II of the Constitution of the Tohono O'odham Nation,						
20	and that their application is approved, as herein above indicated.						
21	BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of the Tohono						
22	O'odham Nation reduce this final determination in writing regarding each of the						
23	foregoing applications for enrollment in accordance with Section 1(a) of Article						
24	XIII of the Enrollment Ordinance; give notice of this Council's determination in						
25	accordance with Section 2 of Article XIII of the Enrollment Ordinance; and place						
26	the names of each applicant upon the membership roll of the Tohono O'odham						
27	Nation in accordance with Sections 2 and 3 of Article X of the Enrollment						
28	Ordinance.						
29	The foregoing Resolution was passed by the Tohono O'Odham Legislative Council on the 08 TH . Day						
30 31	of <u>SEPTEMBER</u> 2003 at a meeting at which a quorum was present with a vote of <u>2,500.25</u> FOR; <u>-0-</u>						
32	AGAINST; <u>129.45</u> NOT VOTING; and <u>[0]</u> ABSENT, pursuant to the powers vested in the Council by Section 1 of Article II and Section 1(h) of Article VI of the Constitution of the Tohono O'Odham						
33	Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting						
33 34	Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16						
3 4 35	of the Act of June 18, 1934 (48 Stat. 984).						
36	or the Act of June 16, 1992 (26 Stat. 962).						
37							
38	TOHONO O'ODHAM LEGISLATIVE COUNCIL						
39	2 C						
40							
41	(/ Johns/Mc) auce						
42	Dennis Ramon, Legislative Chairman						
43							
44 45	10 day of September, 2003						

	RESOLUTION NO. <u>03-380</u> (Enrollment - September)
	Page 3 of 3
1	ATTEST:
2	. /
3	$A \cap A \cap A$
4	Vivian Hedring Cm
5	Vivian Hedrington, Legislative Secretary
6	
7	08 day of September, 20 03.
8	
9	Said Resolution was submitted for approval to the office of the Chairman of the Tohono
10	O'Odham Nation on the // day of <u>September</u> , 20 <u>63</u> at <u>5:05</u> o'clock M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become
11	.M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become
12	effective upon his approval or upon his failure to either approve or disapprove it within 48 hours
13	of submittal.
14	
15	TOHONO O'ODHAM LEGISLATIVE COUNCIL
16	
17	n n// 7 /
18	1 Isling As to auce
19	Dennis Ramon, Legislative Chairman
20	
21	
22	
23	1M 1 1 1 53
24	[] DISAPPROVED on the // day of September , 20 0 at 1.52 o'clock, f.m.
25	1.62
26	[] DISAPPROVED at $\frac{1'7V}{}$ o'clock, $\frac{1}{V}$.M.
27	
28	Minumber of the state of the st
29	_ //MMan wan samaer
30	VIVIAN JUAN-SAUNDERS, Chairwoman
31	TOHONO O'ODHAM NATION
32	
33	
34	
35	, ,
36	Returned to the Legislative Secretary on the/ day of
37	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
38	replenter, 20 03, at 7.30 o'clock, p.M.
39	
40	Systember , 20 03 , at 4:30 o'clock, p.M. Vicinn Hedrigton
41	The the state of t
42	Vivian Hedrington, Legislative Secretary
43	
44 45	
45 46	
46	

ACTION: ENROLLMENT - SEPTEMBER

MOVED: COUNCILWOMAN FRANCES CONDE SECOND: COUNCILWOMAN FELICIA NUNEZ

DATE: SEPTEMBER 08, 2003

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 192.6	1. ISIDRO LOPEZ (Nicholas Jose)	96.30	X			
192.0	2. DARLENE ANDREW (Rita Martinez)	96.30	х			
SELLS	1. DENNIS E. JOSE	232.80	X			
465.6	2. EVELYN JUAN	232.80	X			
SCHUK TOAK	1. FRANCES B. CONDE	88.05	x			
176.1	2. PHYLLIS JUAN	88.05	X			
SAN XAVIER	1. FELICIA NUÑEZ	107.70	X			
215.4	2. DENNIS RAMON ()	107.70	X			
SAN LUCY	1. JOHN W. LAWSON, SR.	83.15	X			
166.3	2. GLORIA RAMIREZ ()	83.15	X			
PISINEMO	1. BARBARA SALVICIO	87.70	X			
175.4	2. PATRICIA CRUZ	87.70	X			
HICKIWAN	1. DELMA GARCIA	85.15	X			
170.3	(Mary E. Sam) 2. SANDRA ORTEGA ()	85.15	x			
GU VO	1. RAYMOND VICTOR	95.70	X			
191.4	2. MICHAEL FLORES	95.70	X			
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles)	126.80	Х			
253.6	2. JEROME JOAQUIN	126.80	x			
CHUKUT KUK	1. KENNETH WILLIAMS	129.45	X			
258.9	(Juanita Homer) 2. VERLON M. JOSE (David Garcia)	129.45			X	
BABOQUIVARI	1. FRANCES MIGUEL	182.05	X			
364.1	(Lucilda Norris-Valenzula) 2. FRANCES G. ANTONE ()	182. 05	X			
•	TOTAL	2,629.7	2,500.25	-0-	129.45	[0]